THE ERGODIC INFINITE MEASURE PRESERVING TRANSFORMATION OF BOOLE

BY

ROY. L. ADLER AND BENJAMIN WEISS

ABSTRACT

G. Boole proved that the transformation φ of the real line, defined by $\varphi(x) = x - 1/x$, preserves Lebesgue measure. A general method is applied to proving that φ is ergodic. Some further applications of the method are also indicated.

1. Introduction

It was over a hundred years ago that G. Boole [2:780] discovered the surprising formula

(1)
$$\int_{-\infty}^{\infty} f(x) dx = \int_{-\infty}^{\infty} f(x - (1/x)) dx,$$

which is valid for any integrable function f. In the ensuing years at least one author generalized and extended (1), (see [3], [4]) and used it to derive various definite integrals. An ergodic-theorist, upon encountering (1) will immediately recognize that what is being expressed is the fact that the transformation $x \rightarrow x - (1/x)$ preserves the usual Lebesgue measure on the real line \mathbb{R} . Now as is well known there are fundamental differences between the measure preserving transformations of finite measure spaces and those of infinite measure-spaces. In particular the latter theory suffers from a paucity of good examples, and so a natural question arose — what can ergodic theory say about Boole's transformation $\varphi(x) = x - (1/x)$. We embark upon such a study in this paper which is devoted in the main to showing φ is ergodic.

The method of proof that will be used has wider applicability. In particular it can be used to show that φ is totally ergodic, i.e., φ^k is ergodic for all $k \ge 1$.

Received April 1, 1973

It also applies to certain transformations of \mathbb{R} that do not preserve Lebesgue measure, by first constructing for them an invariant measure and then proving ergodicity. It also applies to the study of the questions raised in [1]. For instance Example 2 of [1] is an isomorphic image of Boole's transformation under the change of variable $x \to \arg((x - i)/(x + i))$. The mixing properties of φ are probably not exhausted by the statement that φ is totally ergodic, and the proof to be given here suggests that more is true. We hope to return to some of these points in the future.

A brief word about the organization of the paper: Section 2 contains some general information about measure-preserving transformations of infinite measure spaces. Section 3 contains the main theorem, namely that φ is ergodic, along with several lemmas necessary for its proof.

Finally we wish to acknowledge an astute observation by Professor L. Flatto which somewhat simplified our original version of this work. He pointed out how to replace asymptotic analysis of the sequences $\{x_n\}$ and $\{u_n\}$ by the integral test in Lemma 3.2.

2. Induced transformations

Let (X, \mathbb{B}, μ) be a sigma-finite measure space. Let φ be a measure-preserving transformation of X onto X which is not necessarily invertible; that is $\varphi^{-1}(E) \in \mathbb{B}$ and $\mu(\varphi^{-1}E) = \mu(E)$ for every $E \in \mathbb{B}$. Let A be a measurable subset of X such that

(1)
$$X = \bigcup_{n=1}^{\infty} \varphi^{-n} A$$

For each $x \in X$ we define a positive integer $\tau(x)$ by $\tau(x) \equiv \inf\{n \mid n \ge 1, \varphi^n x \in A\}$. The sets $\{x \mid \tau(x) = n\}, n = 1, 2, \cdots$, form a disjoint partition of X and satisfy

(2)
$$\{x \mid \tau(x) = n+1\} = \varphi^{-1}\{x \mid \tau(x) = n\} \cap \varphi^{-1}A^c$$

for $n = 1, 2, \dots$. Let us define the following subsets of $\varphi^{-n}A$:

$$A_n \equiv \{x \mid \tau(x) = n\} \cap A \text{ and } B_n \equiv \{x \mid \tau(x) = n\} \cap A^c, \qquad n = 1, 2, \cdots.$$

For these sets we have

(3)
$$\varphi^{-1}B_n = B_{n+1} \cup A_{n+1} \text{ (disjoint)},$$

Vol. 16, 1973 THE ERGODIC TRANSFORMATION OF BOOLE

 $n = 1, 2, \dots$. It is helpful to form a mental image of the mapping in terms of a two-story building[†] (see Fig. 1).



The transformation φ_A mapping A onto A defined by $\varphi_A x \equiv \varphi^{t(x)} x$ for $x \in A$ is called *the induced transformation* by φ on A. It is easy to see that

(4)
$$\varphi_A^{-1}E = \bigcup_{n=1}^{\infty} A_n \cap \varphi^{-n}E \text{ (disjoint)}$$

for $E \subset A$, $E \in \mathbb{B}$.

THEOREM 1. If $\mu(A) < \infty$ then φ_A preserves the measure μ on \mathbb{B}_A , the measurable subsets of A.

PROOF. Using (3) and the fact that φ is μ -measure preserving we can show by induction

(5)
$$\mu(E) = \sum_{k=1}^{n} \mu(A_k \cap \varphi^{-k}E) + \mu(B_n \cap \varphi^{-n}E)$$

for $E \subset A$, $E \in \mathbb{B}$, and $n = 1, 2, \dots$. By the same method

(6)
$$\mu(B_n) = \sum_{k=n+1}^{\infty} \mu(A_k)$$

 $n = 1, 2, \dots$. From (4) and (5) we have

(7)
$$|\mu(E) - \mu(\varphi_A^{-1}E)| = \sum_{k=n+1}^{\infty} \mu(A_k \cap \varphi^{-k}E) + \mu(B_n \cap \varphi^{-n}E)$$

for all *n*. From (6) the right-hand side of (7) is dominated by $2\sum_{k=n+1}^{\infty} \mu(A_k)$. This quantity is the tail of a convergent series because $\mu(A) < \infty$; hence it converges to zero as $n \to \infty$ forcing $\mu(E) = \mu(\varphi_A^{-1}E)$ for $E \subset A$, $E \in \mathbb{B}$.

[†] In the case of invertible transformations the usual picture is somewhat different [5: 29].

THEOREM 2. If φ_A is ergodic then so is φ .

PROOF. Let E be an invariant measurable set of positive measure. Invariant here means $\varphi^{-1}E = E$. At least one of the sets $A \cap E$ and $A \cap E^c$ has positive measure. Since the roles of E and E^c are interchangeable in this argument let us assume $\mu(A \cap E) > 0$. From (4)

$$\varphi_A^{-1}(E \cap A) = \bigcup_{n=1}^{\infty} A_n \cap \varphi^{-n}(A \cap E) = \bigcup_{n=1}^{\infty} A_n \cap \varphi^{-n}A \cap E$$
$$= \bigcup_{n=1}^{\infty} A_n \cap E = E \cap A.$$

Since φ_A^{-1} is ergodic, we then have $E \cap A = A$ modulo a set of measure zero. Thus $X = \bigcup_{n=1}^{\infty} \varphi^{-n}(E \cap A) = \bigcup_{n=1}^{\infty} E \cap \varphi^{-n}A = E$ modulo a set of measure zero.

REMARK. The converse of Theorem 2 is also true.

PROOF. Let φ be ergodic and $E = \varphi_A$ -invariant subset of A of positive measure. Thus $\varphi_A^{-1}E = \bigcup_{n=1}^{\infty} A_n \cap \varphi^{-n}E = E$. Let $F = E \cup \bigcup_{n=1}^{\infty} B_n \cap \varphi^{-n}E$; consequently $\varphi^{-1}F = \varphi^{-1}E \cup \bigcup_{n=1}^{\infty} \varphi^{-1}B_n \cap \varphi^{-n}E$. From (3) and the fact that $\varphi^{-1}E = (A_1 \cup B_1) \cap \varphi^{-1}E$ we can conclude $\varphi^{-1}F = F$. Thus F = X modulo a set of measure zero. Since $\bigcup_{n=1}^{\infty} B_n \cap \varphi^{-n}E \subset A^c$ we have $E \supseteq A$ modulo a set of measure zero.

3. Boole's transformation

Let us now turn our attention to the transformation $\varphi: x \to x - (1/x)$ which maps $\mathbb{R} - \{0\}$ onto \mathbb{R} in a two-to-one manner.

To form the space X on which φ acts in accordance with Section 2 we must delete from \mathbb{R} the denumerable set $\bigcup_{n=0}^{\infty} \varphi^{-n}\{0\}$ which consists of all orbits that hit 0, a point where φ is undefined. We shall adopt the notation |E| for the Lebesgue measure of a measurable subset E of \mathbb{R} .

THEOREM. φ preserves Lebesgue measure.

PROOF. We shall reproduce a version of a proof which is to be found in an editor's note at the end of [3] (the editor was Cayley). We must show that $|\varphi^{-1}I| = |I|$ for arbitrary intervals *I*. It suffices to verify this for intervals of the form $I = (0, \eta), \eta > 0$ and $I = (\eta, 0), n < 0$. For $\eta > 0$ (see Fig. 2) we have

(1)
$$\varphi^{-1}(0,\eta) = (-1,\xi_1) \cup (1,\xi_2)$$
 (disjoint)



where ξ_1 and ξ_2 are the negative and positive roots of

$$\eta=x-\frac{1}{x},$$

i.e.,

(2)
$$x^2 - \eta x - 1 = 0.$$

Since η equals the sum of the roots of (2) we have from (1)

$$|\varphi^{-1}(0,\eta)| = \xi_1 + \xi_2 = \eta$$

= $|(0,\eta)|.$

The case $\eta < 0$ is handled similarly.

MAIN THEOREM. φ is ergodic.

The plan of the proof is to reduce the problem to the more familiar subject of ergodic theory on finite measure spaces. Therefore we intend to demonstrate that for the set $A = (-1, 1) \cap X$ which has finite measure the induced transformation φ_A is ergodic. Then Theorem 2 can be invoked to conclude the main theorem. In order to establish the ergodicity of φ_A we shall seek a property like condition (c) of Rényi [6], that is a uniform bound for a certain ratio of maximum to minimum derivative of φ_A^n .

This property bounds the departure from linearity of the higher iterates of φ_A over small intervals where φ_A^n is one-to-one. If φ_A^n were linear over these intervals the aforementioned ratio would always be equal to one and ergodicity would be easy to prove. However it is interesting to note that here is an example where even the theorem of [1] is useless and a more delicate analysis must be made.

First the formula for the derivative.

(3)
$$\varphi'(x) = 1 + (1/x^2)$$

is important. Next we require finer details to Fig. 1 for the specific case of Boole's transformation.



Fig. 3

For this we utilize the sequence x_n , $n = 1, 2, \dots$ of strictly positive real numbers which are defined as follows. For $n = 1, 2, \dots$ let x_{n+1} be chosen as the positive root of

$$x^2 - x_n x - 1 = 0$$

with the initial condition $x_1 = 1$. Note that

(4)
$$x_{n} = \varphi(x_{n+1})$$
$$= x_{n+1} - (1/x_{n+1})$$

for $n = 1, 2, \dots$. Since $\varphi'(x) > 0$, the sequence $x_n, n = 1, 2, \dots$ is strictly increasing; and since φ has no fixed points among the finite real numbers, $\lim_{n\to\infty} x_n = \infty$. From the fact that φ is an odd function

$$(5) -x_n = \varphi(-x_{n+1}),$$

 $n = 1, 2, \cdots$; and it is easy to see that

(6)
$$(-x_n, x_n) \cap X = \varphi^{-1+n} A.$$

Consequently condition (2A.1) is satisfied and φ_A can be defined (see Fig. 3 for the graph of φ_A). The conditions of Theorem 1 are also satisfied which implies that φ_A preserves Lebesgue measure.

We need to define another sequence u_n , $n = 1, 2, \cdots$ where $u_1 = x_1 = 1$ and u_{n+1} is taken to be the positive root of the equation

$$x^2 + x_n x - 1 = 0$$

for $n = 1, 2, \cdots$. Note that

(7)
$$-x_n = \varphi(u_{n+1}) = u_{n+1} - \frac{1}{u_{n+1}},$$

 $n = 1, 2, \cdots$. It follows that

$$u_n - (1/u_n) + x_n - (1/x_n) = 0$$

 $n = 1, 2, \dots, and$

$$u_n + x_n = \frac{u_n + x_n}{u_n x_n};$$

hence

$$(8) u_n x_n = 1.$$

Consequently $\lim_{n\to\infty} u_n = 0$. In addition we have

R. L. ADLER AND B. WEISS

(9)
$$\lim_{n \to \infty} \frac{x_{n+1}}{x_n} = \lim_{n \to \infty} \frac{u_{n+1}}{u_n} = 1.$$

Fig. 3 depicts the needed additional information to Fig. 1. For instance it can be seen that

$$A_n = [(-u_n, -u_{n+1}) \cup (u_{n+1}, u_n)] \cap X$$
$$B_n = [(-x_{n+1}, -x_n) \cup (x_n, x_{n+1})] \cap X$$

 $n = 1, 2, \cdots$. Furthermore if we define the following sets

$$A_n^+ \equiv (u_{n+1}, u_n) \cap X$$
$$A_n^- \equiv (-u_n, -u_{n+1}) \cap X$$
$$B_n^+ \equiv (x_n, x_{n+1}) \cap X$$
$$B_n^- \equiv (-x_{n+1}, -x_n) \cap X$$

 $n = 1, 2, \cdots$ and

$$A^+ \equiv (0,1) \cap X$$
$$A^- \equiv (-1,0) \cap X,$$

we then have that φ is a one-to-one mapping of these sets onto others according to the manner listed below:

$$A_{n+1}^{+} \rightarrow B_{n}^{-}$$

$$A_{n+1}^{-} \rightarrow B_{n}^{+}$$

$$B_{n+1}^{+} \rightarrow B_{n}^{+}$$

$$B_{n+1}^{-} \rightarrow B_{n}^{-}$$

 $n = 1, 2, \dots, and$

 $A_1^+ \to A^ A_1^- \to A^+$ $B_1^+ \to A^+$ $B_1^- \to A^-.$

Since $\varphi_A | A_n^{\pm} = \varphi^n$, the transformation φ_A is a one-to-one mapping of A_n^{+} onto A^- and A_n^{-} onto A^+ .

Next let α denote the partition of A into the sets A_n^+ and A_n^- , $n = 1, 2, \cdots$.

270

Let $\alpha^{(n)}$ denote the common refinement $\alpha \lor \varphi_A^{-1} \alpha \lor \cdots \lor \varphi_A^{-n+1} \alpha$. The elements of $\alpha^{(n)}$ are of the form $I_1 \cap \varphi_A^{-1} I_2 \cap \cdots \cap \varphi_A^{-(n+1)} I_n$ where $I_1, \cdots, I_n \in \alpha$. It is also convenient to define $\alpha^{(0)}$ as the partition of A into sets A^+ and A^- . Let us denote a generic element of $\alpha^{(n)}$ by $I^{(n)}$ for $n = 0, 1, 2, \cdots$. Sometimes the superscript will be omitted for n = 1. We have that φ_A maps an $I^{(n)}$ one-to-one onto an $I^{(n-1)}$, $n = 1, 2, \cdots$ and $\varphi_A^{-1}I^{(0)} = \varphi_A I^{(0)} = A - I^{(0)}$.

In addition we can write $I^{(n)} = I^{(1)} \cap \varphi_A^{-1} I^{(n-1)}$. The closure $\overline{I^{(n)}}$ of an $I^{(n)}$ is a little interval whose size is governed by the following considerations. The mean value theorem yields

$$|I^{(n)}| = (\varphi'_A(x))^{-1} |I^{(n-1)}|$$

for some $x \in \overline{I^{(n)}}$. As indicated above the $I^{(n)}$ is a subset of some $I^{(1)}$ equal to one of the sets A_m^+ of A_m^- for an $m \ge 1$. By the chain rule

$$\varphi'_{A}(x) = \varphi^{m'}(x) = \varphi'(x) \cdot \varphi'(\varphi x) \cdots \cdot \varphi'(\varphi^{m-1}x).$$

From (3) we have that $\varphi'(x) \ge 1$ for $x \in \mathbb{R} - \{0\}$ and $\varphi'(x) \ge 2$ for $x \in A$; hence $\varphi'_A(x) \ge 2$ so that we get

(10)
$$|I^{(n)}| \leq (1/2)I^{(n-1)}$$
.

Applying this inequality successively we have

$$(11) |I^{(n)}| \leq 2^{-n}.$$

Actually we shall need a similar estimate for the ratio $|I^{(n)}|/|I^{(1)}|$ where $I^{(n)} = I^{(1)} \cap \varphi_A^{-1}I^{(n-1)}$, but this is best done later. At any rate from (11) follows the fact that α is a generator (one-sided); i.e., the smallest σ -field containing $\bigcup_{n=1}^{\infty} \alpha^{(n)}$ is the σ -field \mathbb{B}_A of measurable subsets of A.

LEMMA 1. There exists a constant C' such that for all $n \ge 1$

(12)
$$\frac{\left|\varphi^{n}x-\varphi^{n}y\right|}{\left|\varphi^{n}I\right|} \leq C' \frac{\left|x-y\right|}{\left|I\right|}$$

whenever x, $y \in I$, $I = A_m^+$ or A_m^- and $n \leq m$.

PROOF. Due to symmetry it suffices to prove (12) merely for $I = A_m^-$ in which case Fig. 4 applies.

The following string of equalities and inequalities are consequences of the mean value theorem, the chain rule, and (3).





For some $s, t \in \overline{\varphi I}$ and $u, v \in \overline{A_m^-}$,

$$\frac{\left|\varphi^{n}x-\varphi^{n}y\right|}{\left|\varphi^{n}I\right|} = \frac{\varphi^{(n-1)'(s)}}{\varphi^{(n-1)'(t)}} \cdot \frac{\varphi'(u)}{\varphi'(v)} \cdot \frac{\left|x-y\right|}{\left|I\right|}$$

$$= \frac{\varphi'(s)\cdot\varphi'(\varphi s)\cdots\varphi'(\varphi^{n-2}s)}{\varphi'(t)\cdot\varphi'(\varphi t)\cdots\varphi'(\varphi^{n-2}t)} \cdot \frac{\varphi'(u)}{\varphi'(v)} \cdot \frac{\left|x-y\right|}{\left|I\right|}$$

$$\leq \frac{\varphi'(x_{m-1})\cdot\varphi'(x_{m-2})\cdots\varphi'(x_{m-n+1})}{\varphi'(x_{m})\cdot\varphi'(x_{m-1})\cdots\varphi'(x_{m-n+2})} \cdot \frac{\varphi'(-u_{m+1})}{\varphi'(-u_{m})} \cdot \frac{\left|x-y\right|}{\left|I\right|}$$

$$= \frac{\varphi'(x_{m-n+1})}{\varphi'(x_{m})} \cdot \frac{\varphi'(-u_{m+1})}{\varphi'(-u_{m})} \cdot \frac{\left|x-y\right|}{\left|I\right|}$$

$$\leq 2 \cdot \frac{(1+u_{m+1}^{-2})}{(1+u_{m}^{-2})} \cdot \frac{\left|x-y\right|}{\left|I\right|}.$$

Vol. 16, 1973

The desired

$$C' = \sup_{m} \left[\frac{2^{(1+u_{m+1}^{-2})}}{(1+u_{m}^{-2})} \right],$$

which is guaranteed to be finite by (9).

LEMMA 2. There exist a constant C" such that for all I

(13)
$$\frac{\varphi'_A(x)}{\varphi'_A(y)} \leq 1 + C'' \frac{|x-y|}{|I|}$$

whenever $x, y \in I$.

PROOF. Again we prove (13) merely for $I = A_n^-$, the case $I = A_n^+$ being entirely symmetrical. For $x, y \in A_n^-$ and $1 \le j \le n-1$ we have by the mean value theorem that there exists $z \in \overline{\varphi^j A_n^-} = \overline{B_{n-j}^+}$ such that

$$\varphi'(\varphi^j x) = \varphi'(\varphi^j y) + \varphi'(z)(\varphi^j x - \varphi^j y).$$

Thus

$$\frac{\varphi'(\varphi^{j}x)}{\varphi'(\varphi^{j}y)} = 1 + \frac{\varphi''(z)}{\varphi'(\varphi^{j}y)} \cdot (\varphi^{j}x - \varphi^{j}y)$$
$$\leq 1 + \frac{|\varphi''(z)|}{2} |\varphi^{j}x - \varphi^{j}y|,$$

by Lemma 1

$$\leq 1+C'\cdot \frac{\left|B_{n-j}^{+}\right|}{\left|z^{3}\right|}\cdot \frac{\left|x-y\right|}{\left|I\right|},$$

hence

(14)
$$\frac{\varphi'(\varphi^j x)}{\varphi'(\varphi^j y)} \leq 1 + C' \cdot \frac{(x_{n-j+1}-x_{n-j})}{x_{n-j}^3} \cdot \frac{|x-y|}{|I|}$$

for x, $y \in I = A_n^-$ and $1 \leq j \leq n-1$.

Next by the mean value theorem again there exists $x \in \overline{I} = \overline{A_n}$ such that

$$\frac{\varphi'(x)}{\varphi'(y)} \leq 1 + \frac{|\varphi''(z)|}{\varphi'(y)} |x - y|$$
$$= 1 + \frac{2}{|z^3|} \cdot \frac{|I|}{(1 + (1/y^2))} \cdot \frac{|x - y|}{|I|}$$

$$\leq 1 + \frac{2(u_n - u_{n+1})}{u_{n+1}^3(1 + (1/u_n^2))} \cdot \frac{|x - y|}{|I|}$$

$$= 1 + \frac{2u_n u_{n+1}^2}{u_{n+1}^3(1 + x_n^2)} \cdot \frac{|x - y|}{|I|}.$$

Thus

(15)
$$\frac{\varphi'(x)}{\varphi'(y)} \leq 1 + O(1) \frac{|x-y|}{|I|}$$

for $x, y \in I$.

Finally applying the chain rule we have

(16)
$$\frac{\varphi'_{A}(x)}{\varphi'_{A}(y)} = \frac{\varphi^{n'}(x)}{\varphi^{n'}(y)} = \frac{\varphi'(\varphi^{n-1}x)\cdots\varphi'(\varphi x)}{\varphi'(\varphi^{n-1}y)\cdots\varphi'(\varphi y)} \cdot \frac{\varphi'(x)}{\varphi'(y)}.$$

From (14) and (15)

(17)
$$\frac{\varphi'_{A}(x)}{\varphi'_{A}(y)} \leq \prod_{m=1}^{n-1} \left(1 + C' \frac{(x_{m+1} - x_{m})}{x_{m}^{3}} \frac{|x - y|}{|I|} \right) \left(1 + O(1) \frac{|x - y|}{|I|} \right)$$

which by (9)

$$\leq \prod_{m=1}^{\infty} \left(1 + O(1) \frac{(x_{m+1} - x_m)}{x_{m+1}^3} \frac{|x - y|}{|I|} \right) \left((1 + O(1) \frac{|x - y|}{|I|} \right).$$

Applying the integral test, $\int_{1}^{\infty} x^{-3} dx < \infty$, we have that the infinite series $\sum_{n=1}^{\infty} x_{m+1}^{-3} (x_{m+1} - x_m)$ converges.

Relation (13) then follows from the following elementary exercise.

PROPOSITION. If $\{a_n\}$ is a sequence of nonnegative numbers such that $\sum_{n=1}^{\infty} a_n < \infty$ then

$$\prod_{n=1}^{\infty} (1+xa_n) = 1 + O(x)$$

for $0 \leq x \leq 1$.

Proof.

$$1 + x \sum_{n=1}^{\infty} a_n \leq \prod_{n=1}^{\infty} (1 + xa_n) \leq e^x \sum_{n=1}^{\infty} a_n$$
$$\leq 1 + x \sum_{n=1}^{\infty} a_n + \left(x \sum_{n=1}^{\infty} a_n\right)^2 / 2! + \cdots$$
$$\leq 1 + x \exp\left(\sum_{n=1}^{\infty} a_n\right) \quad \text{for } 0 \leq x \leq 1.$$

274

Vol. 16, 1973 THE ERGODIC TRANSFORMATION OF BOOLE

We now define the important quantities for the study of the present type of transformation.

DEFINITION. Let

$$M_n(I^{(n)}) \equiv \sup_{\mathbf{x}.\mathbf{y} \in I^{(n)}} \frac{\varphi_A^{n'}(\mathbf{x})}{\varphi_A'(\mathbf{y})}$$

and

$$M_n \equiv \sup_{I^{(n)} \in \alpha^{(n)}} M_n(I^{(n)})$$

for $n = 1, 2, \cdots$.

LEMMA 3. If $E \subseteq I^{(0)}$, |E| > 0 and $I^{(n)} \subset \varphi_A^{-n}I^{(0)}$, then

(18)
$$1/M_n(I^{(n)}) \leq \frac{|I^{(n)} \cap \varphi_A^{-n} E|}{|I^{(n)}||E|} \leq M_n(I^{(n)}).$$

PROOF. Since φ_A^n is a differentiable map of $\overline{I^{(n)}}$ onto $\overline{I^{(0)}}$ we can apply the mean value theorem to obtain

$$\frac{\left|\varphi_{A}^{n}I^{(n)}\right|}{\left|I^{(n)}\right|} = \varphi_{A}^{n'}(x)$$

for some $x \in \overline{I^{(n)}}$. Thus

(19)
$$\min_{\substack{x \in I^{(n)}}} \varphi_{A}^{n'}(x) \leq \frac{\left|\varphi_{A}^{n}I^{(n)}\right|}{\left|I^{(n)}\right|} \leq \max_{\substack{x \in I^{(n)}}} \varphi_{A}^{n'}(x).$$

Again applying the mean value theorem we have

(20)
$$\min_{x \in I^{\overline{(n)}}} \varphi_A^{n'}(x) \leq \frac{|E|}{|I^{(n)} \cap \varphi_A^{-n}E|} \leq \max_{x \in I^{\overline{(n)}}} \varphi_A^{n'}(x)$$

for any interval $E \subset I^{(0)}$. We get (20) for arbitrary subsets E of $I^{(0)}$ of positive measure by applying a standard approximation argument in measure theory. Dividing (19) by (20) and recalling that $|\varphi_A^n I^{(n)}| = 1$ we obtain (18).

LEMMA 4. There exists a constant C > 0 such that if $I^{(n)} \subset I^{(1)}$ then

(21)
$$|I^{(n)}| \leq C(1/2)^{n-1} |I^{(-1)}| \quad \text{for all } n \geq 1.$$

PROOF. The reader might be tempted to apply (12) successively to get (21) but he would end up with the wrong $I^{(1)}$. The correct $I^{(1)}$ appears in the expression

(22)
$$I^{(n)} = I^{(1)} \cap \varphi_A^{-1} I^{(n-1)}.$$

We can apply Lemma 3 restricted to the case n = 1. We take E to be the set $I^{(n-1)}$ that appears in (22) and we get

$$\frac{\left|I^{(1)} \cap \varphi_{A}^{-1} I^{(n-1)}\right|}{\left|I^{(1)}\right| \cdot \left|I^{(n-1)}\right|} \leq M_{1}(I^{(1)}) \leq M_{1}.$$

Thus

$$\frac{\left|I^{(n)}\right|}{\left|I^{(1)}\right|} \leq I^{(n-1)} \cdot M_{1} \leq 2^{-n+1} \cdot M_{1}.$$

From Lemma 2

$$M_1 \leq (1+C'') < \infty;$$

and we can take $C \equiv 1 + C''$.

LEMMA 5. There exist a constant M > 0 such that

 $(23) M_n \leq M < \infty$

for all $n \geq 1$.

PROOF.

$$M_{n+1}(I^{(n+1)}) = \sup_{x,y \in I} \varphi_{A}^{(n+1)'}(x) - \varphi_{A}^{(n+1)'}(y).$$

From the chain rule

$$\leq M_n(I^{(n)}) \sup_{x \cdot y \in I^{(n+1)}} \frac{\varphi'_A(x)}{\varphi'_A(y)}$$

where $I^{(n)} = \varphi_A I^{(n+1)}$. Thus by Lemma 2

$$M_{n+1}(I^{(n+1)}) \leq M_n \sup_{x,y \in I} \left(1 + C'' \frac{|x-y|}{|I|}\right)$$

where $I^{(n+1)} \subset I$. Thus

Vol. 16, 1973

for $I^{(n+1)} \subset I$; and consequently by Lemma 4

$$\leq M_n(1+C\cdot C''\cdot 2^{-n})$$

for all $I^{(n+1)}$.

Therefore

$$M_{n+1} \leq M_n (1 + C \cdot C'' \cdot 2^{-n})$$

$$= M_1 \prod_{m=2}^n (1 + CC''2^{-n}),$$

and by Lemma 2

$$\leq (1+C'') \prod_{m=2}^{n} (1+C \cdot C'' \cdot 2^{-m}).$$

Since the infinite product converges, we have

$$M_n \leq M \equiv (1 + C'') \prod_{m=2}^{\infty} (1 + C \cdot C'' \cdot 2^{-m}) < \infty.$$

At last let us consider the tail field $\bigcap_{n=1}^{\infty} \varphi_A^{-n} \mathbb{B}_A$. For an element $E \in \bigcap_{n=1}^{\infty} \varphi_A^{-n} \mathbb{B}_A$ there exists a set $E_n \in \mathbb{B}_A$ for each *n* such that $E = \varphi_A^{-n} E_n$. The invariant sets of φ_A are tail sets. So are A^+ and A^- ; however neither of these are invariant $(\varphi_A^{-1}A^+ = A^- \text{ and } \varphi_A^{-1}A^- = A^+)$. Once we have proved that A^+ and A^- are the only nontrivial tail sets the proof of the main theorem is concluded.

LEMMA 6. If E is a non-trivial tail set then E equals either A^+ or A^- up to a set of measure zero.

PROOF. Let *E* be a tail set such that $|E \cap I^{(0)}| > 0$. It suffices to prove $|E \cap I^{(0)}| = |I^{(0)}|$. For each *n* there exists $E_{2n} \in \mathbb{B}_A$ such that $E \cap I^{(0)} = \varphi_A^{-2n}(E_{2n} \cap I^{(0)})$. From Lemmas 3 and 5, though we only need the left-hand inequality of (18),

(24)
$$|I^{(2n)}| \cdot |E \cap I^{(0)}|/M \leq |E \cap I^{(0)} \cap I^{(2n)}|$$

for $I^{(2n)} \subset I^{(0)}$. Using the fact that α is a generator a standard approximation argument in measure theory allows us to replace the intervals $I^{(2n)}$ in (24) by arbitrary subsets of $I^{(0)}$, in particular by $E^c \cap I^{(0)}$. Therefore $|E^c \cap I^{(0)}| = 0$.

References

1. R. L. Adler, *F-expansions revisited*, Proc. of Conference on Topological Dynamics, Yale University, June 1972 (to appear).

2. G. Boole, On the comparison of transcendents with certain applications to the theory of definite integrals, Philos. Trans. Roy. Soc. London, 147 Part III (1857), 745-803.

3. J. W. L. Glaisher, On a theorem in definite integration, Quart. J. Pure Appl. Math. 10 (1870), 347-356.

4. J. W. L. Glaisher, Note on certain theorems in definite integration, Messenger Math. 8 (1879), 63-74.

5. P. R. Halmos, Lecture on Ergodic Theory, Math. Soc. of Japan, 3 (1956).

6. A. Rényi, Representations for real numbers and their ergodic properties, Acta Math. Acad. Sci. Hungar. 8 (1957), 477-493.

MATHEMATICAL SCIENCES DEPARTMENT

IBM WATSON RESEARCH CENTER

YORKTOWN HEIGHTS, NEW YORK, U. S. A.

AND

THE HEBREW UNIVERSITY OF JERUSALEM JERUSALEM, ISRAEL